[ Efficiency vs vertpos |

o S W 3

0.020 b digt g oo A S
S |

104 : F [
H B 4+ H + H
1A05: Tt 11 =
+1 b d 1
10-0-0-0‘ - - B - ale - -
H 4T
0.95H as
.95

1072 107 1 10 10?

—=— /data2/legianni/BDT-vs-DNN/real-BDT/CMSSW_13_0_0_pre4/src/runrem/DQM_TT__mkFit_

Efficiend —— pom_17_mkFit_

0.5 ; ; ; ; ;
e

e e e
e e
RN O S S T

PO
gt o -

05 A Al
0 o fp i
o5 P L

o T B N e ot . SR NP

1.05F------- 1A <tH- AT+ A - A -

1

TTTTTTTT
3
> &
> o
g
4
> o
$:
+
» o
3:
» o
T

0.95%

[ Efficiency vs. sim PV z |
0.1

0.09
0.08F
0.07
0.06F
0.05F
0.04F
0.03F
0.02
0.0

104

1.05

B0 =15 -10 5 0 5 10 15 20



	Contents
	Page 1


